Vysapuri, Bandlaguda Post:Keshavgiri, Hyderabad-500 005, AP INDIA Tel: 040-20020772,20020773,,Fax: 040-2445500

E-mail: e3hod.hns@gmail.com, Website: www.mist.ac.in



DATE: 13/6/2017

NOTE SUBMISSION TO PRINCIPAL

To
The Principal
Mahaveeer institute of science and technology
Bandlaguda
Hyderabad.

Subject: Seeking your approval and permission to conduct FDP on "Effective Teaching Methodologies" -Regarding

Sir,

We the department of H&S of MIST are planning to conduct FDP on "Effective Teaching Methodologies" - on 3/7/2017 in our campus. The main aim of this workshop is to know the faculty, importance of the Effective Teaching Methodologies".

Please grant permission and approve the budget for conducting the FDP. Thank you sir.

Enclosures: 1. Draft copy of proposed Budget

P Manju Rani Coordinator Dr M Pratibha Co-Convener Dr K Kiran Kumar

Convener

Vysapuri, Bandlaguda Post:Keshavgiri, Hyderabad-500 005, AP INDIA

Tel: 040-20020772,20020773,,Fax: 040-2445500

E-mail: e3hod.hns@gmail.com, Website: www.mist.ac.in



Date: 13/6/2017

NOTE SUBMISSION TO PRINCIPAL

The proposed budget for conducting a Effective Teaching Methodologies on 3/7/2017 in the college premises.

ption	Price	Quantity	Amount
ochures	15	50	750
cks for 3	150	3	450
r Participants	10	40	400
awls	2000	1	2000
	10	15	150
	1200	3	3600
	-	-	3000
		- (Te	(Ten Thousand Three

Veril.

Vysapuri, Bandlaguda Post:Keshavgiri, Hyderabad-500 005, AP INDIA

Tel: 040-20020772,20020773,,Fax: 040-2445500

Website: www.mist.ac.in

E-mail: e3hod.hns@gmail.com,



Activity Name: FDP

Title Name: Effective Teaching Methodologies

Date of Event: 3/7/2017

Name of Organizing Department: H&S

Name of coordinators: Dr M.Prathibha

Name & Designation of Resource Person: Dr K Kiran Kumar, Professor, MBA Dept

Session 1: 10.30am to 12.30 pm

Session 2: 2pm to 4pm

Workshop Summary: The teacher maintains control over what is being learned and therefore can ensure that the lesson meets the needs and requirements of the curriculum. Within this methodology the teacher is able to move amongst the class and supply individual feedback while providing extension activities as required.

Number Of Participates: 30

Quel

Vysapuri, Bandlaguda Post:Keshavgiri, Hyderabad-500 005, AP INDIA Tel: 040-20020772,20020773,,Fax: 040-2445500

E-mail: <u>e3hod.hns@gmail.com</u>, Website: www.mist.ac.in MAHAVEER

Approved by AICTE, Affilitated to JNTUH, Hyd.



Document Proof:

1. Photo



2. Brochure:

About the College

As in Lorentz committed in quality education CONVENER.

4445 Jones at arreading linatonic with a frichatology on other Leonardarce to present a frichatology office 18th a fundament to finely consistent legating to the a fundament to finely filteration of the finely competitive world, highly free at the fundament of the finely competitive world, highly free at many control, and consistent and the fundament of the filteration of

About H&S Dept

First Understanded of Making promotion: the third of formed only an invalidation of angiotheria volume in travers the highest level of compensation invarient travers the highest level of compensation of angiother with the property of the compensation of angiotheria travers and the state of the compensation of a state of the compensation of the selection of the compensation of t

About the Workshop

Effective Teaching Heitherdologies was required in the institute for specing a required in the control of the second of the seco

Organising committee

CHIEF PATRON

5 Suderstan Rendy, Chairman Sill S Surandar Reddy Secretary

DIRECTOR

DATE ON

PATRON

K. S. S. S. N. Suddy. Principa

CONVENER

Dr. K. Kitzin Kumar, Professor, HOD of MBA Dept co-CONVENER Dr. Pratisha, Professor, HOD of H&S Dept

PROGRAM COORDINATORS

Mrs. P Manis Raol

Mrs. PV Vinitha

Mr. T.S Srinivas

3rd July 2017

FOP ON

EFFECTIVE TEACHING METHODOLOGIES

FECENTIAE

Department of Humanities
and Science

Deut